

次はどうする？

$$(1) \quad - \frac{-9x+7}{6} = 1$$

$$(2) \quad \frac{3x-8}{5} - \frac{2x-9}{6} = -2$$

$$(3) \quad -0.8(-0.2x+3.6)+0.42=9$$

$$(4) \quad -0.8x+6=0.4$$

$$(5) \quad -\frac{7x}{2} + \frac{4}{6} = \frac{3}{8}$$

$$(6) \quad -5(-3x+6)-5(-8x+5)=7$$

次はどうする？（解答）

$$(1) \quad - \frac{-9x+7}{6} = 1$$

$$-(-9x+7)=6$$

$$(2) \quad \frac{3x-8}{5} - \frac{2x-9}{6} = -2$$

$$6(3x-8) - 5(2x-9) = -60$$

$$(3) \quad -0.8(-0.2x+3.6)+0.42=9$$

$$0.16x - 2.88 + 0.42 = 9$$

$$(4) \quad -0.8x+6=0.4$$

$$-8x+60=4$$

$$(5) \quad -\frac{7x}{2} + \frac{4}{6} = \frac{3}{8}$$

$$-84x+16=9$$

$$(6) \quad -5(-3x+6)-5(-8x+5)=7$$

$$15x-30+40x-25=7$$